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Full description





															Construction


This Machine consist the following parts-


Plate A – This is a negatively charged plate, it remains negatively charged through out the working of this machine.


Conductor – This is a light plate.


Plate B – Initially this plate doesn’t have any charge, but it gains charge or looses as the machine works. This plate is indirectly connected to plate C through junctions 1 and 2


Light plate – As the name suggests it’s a plate made up of a light material which can support the weight of the conductor which is connected by a light material to the light plate. When the light plate moves so does the conductor. There is a wire connected to this light plate and in fig.1 it touches junction 1. Overall you can understand this is a rigid part of the arrangement and is moveable.


Plate C – This plate is situated further into the arrangement behind plate B or above the light plate, rest of it can be described just as plate B.


Junctions 1 and 2 – You can see fig.1(3d) to see junction 1 and 2 closely. Fig.1(3d) shows other dimension of fig.1, if you rotate fig.1 in the z axis and bring junction 1 and 2 to face you, you get fig.1(3d). You can see the color code in fig.1 and match it with fig.1(3d). The orange lines you see in fig.1(3d) is the same wire which protrudes from the light plate as seen in fig.1. This wire has a light and wide conductor in its end, when the light plate moves upwards so does the conductor and gets stuck at junction 1 if the light plate moves upwards and junction 2 if the light plate moves downwards. The junctions are made up of 2 thin and small plates, but these plates do not touch each other. When the conductor (marked orange in fig.1(3d)) touches junction 1 the circuit between plate B and C gets completed, same happens when the orange plate touches junction 2. As you can see the connection between plates B and C is influenced by this orange plate which is connected to the light plate, thus overall you can say that the connection between plates B and A is governed by the light plate.
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As said earlier plate A is a negatively charged plate, this plate being close to plate B induces positive charge on the inner surface of plat B(the side facing plate A) and negative charge on the outer surface of plate B. Now initially plates B and C are connected via junction 1 as the light plate is positioned away from plate C due to effect of gravity(see fig.0(3d) for further understanding), till now no force applies on the light plate so it remains down. Now since B and C are connected (to be specific the outer surface of plate B to plate C), charge flows from plate B to C as the negative charge on the outer surface of plate B tends to move to a neutral plate or earth. Now plate C is negatively charged, this negative charge attracts the light plate, the light plate responds by getting lifted up against the gravity, when it gets lifted up, connection between B and C breaks to avoid allowing any current flow. Now as the plate moves do does the conductor and it gets inserted between plates A and B, now as the conductor goes deeper between the plates the effect of A’s electric field on plate B gets reduced and the positive charge on plate B distributes more evenly on the surface of plate B as compared to the last step when the conductor was not inserted. Now as this charge distributes the negative charge on plate C urges to come back to plate B but cant because there is no connection established (remember the light plate moved upwards to break the connection)








When the light plate reaches its destination that is close to plate C the conductor gets fully inserted between plates A and B and the influence of the electric field of A on B is minimum. At the same time Junction 1 has been connected and the connection between plates B and C has again been established (see fig.1(3d) for further understanding). The negatively charge on plate C willingly moves to plate B as the positive charge on plate B is spread. Now not all charge flows as the conductor is not ideal, that is it is not that effective in reducing A’s electric field, so some charge on plate C is left, this charge should have less influence on the light plate than gravity, resulting in the fall of the plate back to its initial state (thus the weight of the plate has to be engineered to give such consequences). Now at from this moment the conductor moves away from plate A and B and the influence of plate A on plate B again gets established as the plate moves further down. Now it is to be noted that when the plate starts moving down, junction 1 again becomes open and the connection between plate B and C becomes an open circuit. When the light plate moves down completely and falls on junction 2 the conductor completely withdraws from between plates A and B and the influence on plate A’s negative charge again gets completely established on plate B, at the same time junction 2 gets connected and plate B and C becomes closed circuit again. Again the negative charge flows from plate B to C and the cycle continues. Now you can go to the previous step (fig.0).





This shows the initial status of the junction and the light plate.





This shows the stage of the cycle when the conductor is completely inserted between plates A and B and the light plate is at its highest position such that junction 1 is closed.
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